W

TEST PAPER 2

(based on Chapters 5 to 11)

MAXIMUM MARKS: 50

Tick (/) the correct option. Do n book 10
0+ 22is end Cory

a 22, ) b. 0. ¢ 1a_J

The weight of a notebook can be

a. 250 g. A b. 250 kg. ) ¢. 300L. }

A has all sides of equal length.

a. rectangle  J b. circle } c. square \4

m
Qu&t%f‘gastg is the same as
2 9.05., ] b. 9.10. } c. 9.15. 4

When the minute hand is on , the time is in half hours.

2 12 b6 W F « 15}

6 coins of S0 p make

T Sy t;._g 4. ) e 3. F
One-fourth of 20 flowers are red. How many flowers are red?
a 10 ) b. 5 g | . 15 )
The pictorial representation of data is called a
a list. ) b. pictograph. VF ¢ picture. )

75 paise + 70 paise + 75 paise is

< a X125 ) b. ¥2.20 \AF ¢ X350 )

. A triangle is formed by

sides.

a. three ™} b. four J e two. }



n

45+ A =5

Fill in the blanks.

A sphere has 9, edges. -

8m4cm=8ﬁﬂ:cm L8

A leap year ha&B& days. )

10

6. Half a kilogram = 500 g

Seven 50- palse coins =3 3:£0

7 0f49

) -
» -

One hour after 12 o’clock = J;_OC;CG\SOO + 100 Q= _Z R=_0)

Compare each pair and put >, <or=in .

500 ml -Ji L. } ] quarter litre :‘EE i
of 36 =34~ 1-(-:'1 = of 18 g -
16—16 2\ (X16—1 = LA

5.,.‘" .;21..;;:" "'ﬁ

w‘-—;.

. Two 5-rupee coins = Five 2-rupee coins

SOcm+70cm  ))1 metre = : 49 ap,

L :}')nfm
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